P¢l1 ©« 31 M!!

&P c 1Ll
B*=B1 =] |

5L1! P¢1 ©!
! L|.8é !
! L~#N -!




TR A

Express Yourself with Chinese




BECENTE

<§Ay oo T A° usedasa preposition Al

1°?+B$ >(Basic Usage)

As a content word, © may be a verb or a measure word. When used as a verb, © may mean ~ Wolg, I ViaKe, Lor ~ WWbRrol,
etc., for example, © E° 1 E°L . It can also be used as a measure word, for example, 0°0 E0° U E 0 °2£ E
O°w€ (fan), 0°9f & (tea pot), etc.

© can also be a function word. In this lesson we will introduce ©3  -- a special type of sentence in which © works as a

preposition. © is very often used in Chinese and most of its usages are familiar to us. Please study examples and learn how to
make your own © f

(A)IPlease use the underlined words to make your own sentences

R can be used as imperative sentences

» 1IB'° L £:A 21B'e O (Y4 A
FP (B'+X+e €(x & JK. O O www.heritagechinese.com/ap.php)
°f usually includes ¥ in it
» LA =#G] A 41 ° 1€ (A
FP (B'+X E JK. O Owww.heritagechinese.com/ap.php) (< )
We canalsoinserta5 in °t O
» 5IB'°L5 £:A 61 A°>"=5#G TA
FP (B'+X E JK. O Owww.heritagechinese.com/ap.php) (< )
More ©Ff
» 7161 8AU —+CQ —fOA 8! ©° YEnX|€:A
FP (B'+X E JK. O Owww.heritagechinese.com/ap.php) (< )

(B)!Extension O 6

Inmany cases, theword © in ®F  canbe replaced by theword 6.Infact, 6%  were much more common in ancient China.
Today, 6 ¥  is mainly used in a formal or serious situation rather than an everyday life situation.

(C)!Please use the underlined words to make your own sentences

6% ismainly used in a formal or serious situation

» 9. QK 6" JARA— 51y 0Z" J+O A|10JAG68 I # E@O0--MOzA
FP (B'+X E JK. O Owww.heritagechinese.com/ap.php) (< )

» 111 k+tO 6 FPY5 1 46F>| 16 A A |12!)»> 6 E+cB'FB54y*6 A

FP (B'+X E JK. O Owww.heritagechinese.com/ap.php) (< )

(D)'Study the examples of wrong usage and correct them

Some verbs cannot be usedina ©¥ . Re-phrase the following © ¥ into correct sentences
Kl 131 A"4y°e” "p9TA 141 °IB"NS %A
)
KI 151618°A 84 Ff TA 161 ©°618 f 1A
)
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Classroom Exercises




AP B. 2AY46A1 A

i AP Chinese B. 2AY46 A1 A
10°NY g]-?2"G, $5#17-3A ... b What is this passage about?

OK Eé, 8 rusweEOAA 702£Q
/,-8¢Npj-y €0gl-pANpjN!G E
(w4 37.52£K,” &WEpPNp '’ (Ece A X &
(w, E+X;E+é 7-Ve+ Gyea,  WNp E

@1 $5#1" 7-$A EFP/¢, % 82«A

$ESHPPHS865 X+H6G3-1 0 ZNp E +eN©- )a
-7 20 YB'A F ZN©-lya |7~
G+e5+8240" 181 7TXEVAYS"WF.& 10~ A
nGy427 7XA $
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ZLc7-+C 90 £, 0 Y+XAL...?2-19
C2MTEéiZLc7-y?xJ/j93 GUE 0Z

ZLc7- +eN©- [ 0O "*\ Y2 @AT7  1+,-$%-.
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http://www.ps- ce.com/content.jsp?urltype=
news.NewsContentUrl&wbtreeid=1016&wbnewsid=2611

(A) Eco-tourism in northwestern China.

(B) Campaigns for environmental protection.

(C) Regional development of clean energy in China.
(D) Benefits of and new technologies in solar energy.

Where is this passage most likely to be found?
(A) A science museum

(B) A power plant

(C) Achidren-V ERRN

(D) A newspaper

What does 5Y | mean in paragraph 4?

(A) A shrinking shadow.

(B) Atypical case of a trend.

(C) A photocopy of an original document.

(D) A generalization made from individual incidents.

Which of the following is true according to the passage?

(A) Gansu Province is given as an example of a region
where solar energy is well utilized.

(B) Solar energy has a distinctive advantage in its low
cost.

(C) There is abundant sunshine in northwestern China.

(D) The project in Shanxi is contributing to the reduction
of coal consumption.

N

Y ™ an efficient tool Vi"\Wse F.a10%$
carbon dioxide

An emission y ? 123hotovoltaic

X J industry /]93 1+ &s$2Bemonstration

AT 7 1+,-s%$equipment  CZ Si(+$0718greedy
EA 4233+ $radiation %@s* E potential

H T 1587$+$dvantage A7-$A new energy
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HERZIMEZEH

ini-lecture)

(Amazon.com _E A # TS UFR N ZIZRHT AP R SCHERSH 1, R, arftiks, )

give your own opinion on the legend.
QOutline
Opening remark

The main body

Conclusion

There are many legends in Chinese history. Choose ONE to present. The presentation needs to summarize the legend and

Opening remark
XA R+
X BRI e
187 SRS L

X ARME XA WL 28 KoKl Ay

X NIRRT U

Organization and transition
X PPN A =
X A=A TT TR R
XH %G
x HkI%—
X =
X B JE
X AEH — ¥
X E2 o)
X T, LREE
XFE TR, IRIRE

Conclusion
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X HeJi s AETRT AR SR A5 SR A

XFTLL, i
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EAMA#1 (EH)Y BEB (optional homework, ¥LAHEHE:  www.heritagechinese.com/ap.php)
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